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Неравенства-2

1. Докажите неравенство 𝑎
𝑏
+ 𝑏

𝑐
+ 𝑐

𝑎
≥ 3, где 𝑎, 𝑏, 𝑐 > 0.

2. Докажите, что
(1− 𝑥1)(1− 𝑥2) · . . . · (1− 𝑥𝑛)

𝑥1 · . . . · 𝑥𝑛

≥ (𝑛− 1)𝑛,

где 𝑥1, . . . , 𝑥𝑛 > 0 и 𝑥1 + . . .+ 𝑥𝑛 = 1.

3. Решить систему уравнений:

{︃
𝑥+ 𝑦 + 𝑧 = 3,

𝑥2 + 𝑦2 + 𝑧2 = 3.

4. Сравните числа
(︀
1 + 1

2015

)︀2016 и
(︀
1 + 1

2016

)︀2017.
5. Докажите, что (1 + 𝑥1)(1 + 𝑥2) · . . . · (1 + 𝑥𝑛) ≥ 2𝑛, если 𝑥1𝑥2 . . . 𝑥𝑛 = 1 и 𝑥1, ..., 𝑥𝑛 > 0.

6. Докажите, что
(︁
𝑥1 +

1
𝑥1

)︁2

+ . . .+
(︁
𝑥𝑛 +

1
𝑥𝑛

)︁2

≥ (𝑛2+1)2

𝑛
, если 𝑥1, . . . , 𝑥𝑛 > 0 и 𝑥1 + . . .+ 𝑥𝑛 = 1.

7. Решите систему:

⎧⎨⎩
√
1 + 𝑥1 + . . .+

√
1 + 𝑥𝑛 = 100

√︁
1 + 1

100
,

√
1− 𝑥1 + . . .+

√
1− 𝑥𝑛 = 100

√︁
1− 1

100
.


